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Properties of Exponents - Practice 
 

1 
 

Simplify the following: 

1. (𝑑3𝑛−2)2(𝑑−2𝑛4)3 

2. 
𝑥0𝑦−7𝑧12

𝑤−4𝑧6  

3. (𝑡3𝑠−4)−3 

 

4. (𝑚4ℎ3)(𝑚3ℎ2) 

5. 
5𝑥9𝑦12

𝑥4𝑦5  

6. (𝑧0𝑦3𝑥−8)2



7. Choose ALL correct answers. Which of the following expressions is equivalent to 
1

𝑥3
 when simplified? 

A. (𝑥3)−3 ∙ 𝑥6 B. (𝑥9 ∙ 𝑥−6)−1 

C. (𝑥−9 + 𝑥6)−1 D. (𝑥15)−2 ∙ 𝑥−10 

 

8. Describe and correct the error in evaluating the expression: 

5−2 =
1

(−5)(−5)
 

= −
1

25
 

 

 

9. Choose ALL correct answers. Which of the following expressions is equivalent to  𝑤2 when simplified? 

A. (𝑤4)−2 ∙ 𝑤10 B. (𝑤2 ∙ 𝑤−4)−1 

C. (𝑤−8 + 𝑤6)−1 D. (𝑤6)−2 ∙ 𝑤−3 



 


